

19, 20

نام و نام خانوادگی: کلاس: ۹ شماره: ۱۱ A پاسخنامه تشریحی تکلیف شماره ۹

$$f\left(\frac{\pi}{4}\right) = \cot \frac{\frac{\pi}{4} + \pi}{\frac{1}{f}} \Rightarrow \cot \frac{\pi}{4} = (\sqrt{3}) \Rightarrow f(\sqrt{3}) = \frac{\sqrt{(\sqrt{3})^2 + 1}}{\sqrt{3} - 2\sqrt{3}} = \frac{\sqrt{4}}{\sqrt{3} - 2\sqrt{3}} = \frac{2}{-\sqrt{3}} = -\frac{2}{\sqrt{3}}$$

$$g\left(\frac{\pi}{4}\right) = \cos \frac{\pi}{4} = \frac{1}{\sqrt{2}} \Rightarrow f\left(\frac{1}{\sqrt{2}}\right) = \sqrt{\frac{f-1}{f}} = \frac{+\sqrt{2}}{2}$$

$$g(\sqrt{2}) = \frac{\sqrt{2}}{1-\sqrt{2}} \Rightarrow f\left(\frac{\sqrt{2}}{1-\sqrt{2}}\right) = \left[\frac{\sqrt{2}}{1-\sqrt{2}}\right] = -9$$

$$f\left(\frac{\pi}{4}\right) = \sin \frac{\pi}{4} = \frac{\sqrt{2}}{2} \quad g\left(\frac{\sqrt{2}}{2}\right) = \frac{\sqrt{2}}{2} \times \frac{\sqrt{1-\frac{2}{4}}}{\frac{2}{f}} \Rightarrow \frac{\sqrt{2}}{2} \times \frac{\sqrt{2}}{2} = \frac{2}{4} = \frac{1}{2}$$

$$f \circ g(x) = \{(f, a), (b, a), (c, 12), (1, 12)\}$$

$$g \circ f(x) = \emptyset$$

$$f \circ f(x) = \emptyset$$

$$g \circ g(x) = \{(f, 1), (2, 4), (4, 10)\}$$

$$f \circ g(x) = \{(1, 1), (c, v), (a, r), (b, v)\} \xrightarrow{(f, r) \in f \circ g} (a = f)$$

$$g(f(x)) = \{(v, r), (f, 1)\} \quad \downarrow \quad g(1) = 1 \Rightarrow (b = a)$$

$$\Rightarrow (a, b) = (f, a)$$

$$f(f(x)) = f(ax+b) = a(ax+b) + b = a^2x + ab + b = f_{n+1} \Rightarrow \begin{cases} a^2 = \varepsilon \\ ab + b = r \end{cases} \Rightarrow \begin{cases} a=r \\ b=1 \end{cases} \Rightarrow y = rx + 1$$

$$g(f(-1)) \Rightarrow f(-1) = -r+1 = (-1) \Rightarrow g(-1) \Rightarrow rx + r = -1 \Rightarrow \underline{x = -r} \Rightarrow g(-1) = -r - r = (-2) \quad \text{6}$$

$$\textcircled{1} x + |x| \geq 0 \rightarrow \mathbb{R} \quad \textcircled{2} x \geq 0 \rightarrow (0, +\infty) \cap \textcircled{1} = (0, +\infty) \rightarrow Df$$

$$x' - fx \neq 0 \rightarrow \Delta = 14 \rightarrow \frac{f \pm \varepsilon}{r} \rightarrow \frac{\varepsilon}{0} \rightarrow \mathbb{R} - \{0, \varepsilon\} \rightarrow Dg$$

$$Dg \circ f = \{x \in D_f, f(x) \in D_g\}$$

$$Dg \circ f = \{x \in (0, +\infty), \underbrace{\sqrt{x+|x|}}_{x \neq 1} \in \mathbb{R} - \{0, \varepsilon\}\} \rightarrow Dg \circ f = (0, +\infty) - \{1\}$$

$$D(f+g) \circ f = \{x \in D_f, f(x) \in D_{f+g}\} \Rightarrow Df = 1 - x^2 \geq 0 \rightarrow -1 \leq x \leq 1$$

$$Dg = x \geq 0 \rightarrow [0, +\infty) \Rightarrow D_{f+g} = Df \cap Dg = [0, 1]$$

$$\rightarrow D_{(f+g) \circ f} = \{x \in [-1, 1], \sqrt{1-x^2} \in [0, 1]\} \Rightarrow D_{(f+g) \circ f} = [-1, 1] \cap [0, 1] = [0, 1] \quad \text{1, 10}$$

$x \geq 0 \Rightarrow 0 \leq \sqrt{1-x^2} \leq 1 \Rightarrow 0 \leq x \leq 1$

$$\frac{rx+1}{x-r} = b \rightarrow bx - rb = rx + 1 \Rightarrow x(b+r) = -rb - 1 \Rightarrow x = \frac{-rb-1}{b+r} \Rightarrow f(b) = f\left(\frac{-rb-1}{b+r}\right) + \Delta \quad \text{الف}$$

$$\Rightarrow f(x) = \frac{-1x - \varepsilon}{-x + r} + \Delta = \frac{rx - 1}{x - r}$$

$$x + \frac{1}{x} = b \rightarrow \left(x + \frac{1}{x}\right)^r \rightarrow x^r + \frac{1}{x^r} + rx + \frac{r}{x} \rightarrow x^r + \frac{1}{x^r} = \left(x + \frac{1}{x}\right)^r - r\left(x + \frac{1}{x}\right) \quad \text{ب}$$

$$\Rightarrow f(b) = b^r - rb \Rightarrow f(x) = x^r - rx$$

$$\textcircled{1} \textcircled{2} \quad g(f(x)) = 0 \rightarrow g(1) = 0 \rightarrow g(1) = 0 \rightarrow f(x) = 1 \rightarrow x\sqrt{x} = 1 \Rightarrow \underline{x = 1}$$

$g(\sqrt{x}) = 0 \rightarrow f(x) = r\sqrt{x} \rightarrow x\sqrt{x} = r \Rightarrow \underline{x = r}$

$$r-1 = (-1)$$